mean # PXL hits vs eta

<pixel hits>

Ratio

0.95

I——

=

-3

510 12 3
n

| mean

# PXL Layers with measurement vs eta

<pixel layers>
= N w »
)] N 6] wW U D 6]

o
Ol

.....................................................................

.....................................................................

o+

Rati
=

%MWWMM.MMMMM

0.95

510 12 3

[ LI

—=— DQM_mkFit_baseline

mean # STRIP hits v| —— DQM_mkFit_baseline6iter

<strip hits>

s e e e

T RTE ST S P -
: o :

A

= |

¥

=
T
>3

o

0 12 3

—— DQM_mkFit_TT_RetrainV2_WP1_6iter_ep3
I DT T T CoTTTTT

<strip layers>

.IIIillII.IIII.IIII.IIII.IIF

Ratio

o
<

e

>

##WHWHWW

3 -2 -1 0 1




	Contents
	Page 1


